BERZIERHRO Y FELVHE

T=FPUEETS TKNJ

ELHEIRRE =% R ()
T6HFO3 359
T6HF04 434
T6HFO5 438
TTHFO1 360
T7HFO2 439
TTHFO3 379
TTHFO4 438
TTHFO5 444
T7HF06 473
1004 T8HFO1 469
PTP T8HF02 481
TSHFO3 459
T8HF04 450
TSHFO5 399
T8HF06 375
TOHFO1 437
TOHFO02 461
TOHFO3 468
TOHF04 470
TOHFO5 459

T=FVUEE150 KN

IR 2y h & s (F)
T6DQ0 1, 394
T6DQ1 1 334
T7DQ01 1,847
T7DQ04 1,437
T7DQ06 1,418
T7DQ07 6
T7DQ08 1,989
17DQ09 373
B 7DQ11 603
100sE T7DQ12 1,436
T7DQ13 834
T7DQ14 596
18DQO1 807
18DQO3 1,381
T8DQO5 2, 383
18DQO6 1, 306
T8DQO7 619
T9DQ02 2, 437

T9DQO4 2,444




BERZIERHRO Y FELVHE

T=FTVUEEL 50 TKN]J

ELHEIRRE =% R ()

T6DQ0Y 100

T6DQ10 243

T6DQ11 205

T7DQO1 56

T7DQ02 243

T7DQ03 244

T7DQ04 99

T7DQ05 245

T7DQ06 100

T7DQO7 234

T7DQO8 43

T7DQ09 201

1000%¢ T7DQ10 244
PTP T7DQ11 186
T7DQ12 98

T7DQ13 160

T7DQ14 183

T8DQO1 164

T8DQO2 245

T8DQO3 108

T8DQ04 245

T8DQO6 110

T8DQO7 181

T9DQO1 242

T9DQO3 242

T9DQO5 241




